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General Instructions:

1.
2.

All questions are compulsory.

The question paper consists of 31 questions divided into four sections A, B, C and 2.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each. &

There is no overall choice in this question paper.

Use of calculator is not permitted.

=EUus-31 [ SECTION-A

oy wE 134§ wew w6 1 3E R
Question numbers 1 to 4 carry one mark each.

/ﬁqﬁﬁaaﬁwaﬁfﬁﬁwqﬁﬂum@‘ﬂ%q:

[

J7 : 0.2020020002......; 7 ; 0.534534534........,

Identify a rational number among the following numbers :

J2,0.2020020002. ..., , 0.534534534......,
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If 3x—1 is a factor of the polynomial 6% +x—1, then find the other factor.

vz/ s forde Y1 A T m 3t n @) 39 wer gk F § i wia sl F e 3 a1
&) e, S IS m AT S = H 991 e T © 2

A transversal | intersects two lines m and n such that a pair of alternate interior angles is
equal. Then, what can you say about the lines mand n ?

/mﬁgﬁmmwmsﬁﬁngﬂ-ﬁ[ 1

Write coordinates of a point whose ordinate is 5 and abscissa is — 4.

EUES-d [ SECTION-B
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Question numbers 5 to 10 carry two marks each.

4 ; :
aftz = 0.064, % @ (%]3 =1 W 9 Fi

I35 = QOSL e ned the valus uf[l)3 :
=

N L
,6/ UGS I : 10x2 —7x+ 1 2

Factorise ; 1022 —7x+ 1

3 Tag W fr fet B 3 g i 3 T Y we A £ 2
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Prove that the sides opposite to equal angles of a triangle are equal.

S

‘e/ firere it i SHEROTST § § 9 2 = 2

State any two of Euclid’s five postulates.

Q/mfagé:ﬁ%ﬂﬁ%ﬁmﬁhﬁa: - 2

() RN - F FHRITFE TG R/E |

(i) y-ITRETTIN-AGFAASIFE SIS RE |

(i)  x-3181 W feoa € a1 qEfag & 3% SR 2THE B g0 WE |
(iv)  x-3781 T feora & 991 y-3701 F 9% SR4ATHFE FIGUWE |
Write the co-ordinates of a point which is :

(i) above xr-axis and is lying on y-axis at a distance of 3 units.
(i)  below x-axis and is lying on y-axis at a distance of 8 units.
(iii)  on right of origin and lies.on x-axis at a distance of 2 units.

(iv)  on left of y-axis and lies on x-axis at a distance of 4 units.

L/fﬂﬁmagﬁmﬁ,Fﬁﬁﬂ%ﬁiﬂﬁﬁmnmﬁummﬁiﬁmﬁammaﬁmw 2
i hifore |

In a rhombus, lengths of diagonals are 400 m and 410 m. Find the area and side of the
rhombus.

EUE-H [ SECTION-C
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Question numbers 11 to 20 carry three marks each.
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If x = 2 + 3 ; find the value of x® + —.
X

/ Jo5 =1 g T W e FifE

Represent +/9.5 on the number line.

/ﬁzﬁﬁﬁaﬁmﬁmﬂﬂsﬂ—xﬁﬂﬁwmmﬁ:mm[x+5}%1{uiamﬁqﬁq€u 3
Determine what must be subtracted from 4x® + 16x2 —x+5 to obtain a polynomial which is exactly i
divisible by (x +5).

4/7 RIGEIELE 3
fr A)  gxfia
+ ——+=
xy [{x e
Simplify :
(et i
xy Yy LJ: v)
s fawm f#, AC=DC M CB=CE#! sy 7 AB=DE €| 3
A :
“-
D
In the given figure AC=DC and CB=CE. Show that AB=DE.
i
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ABC is a triangle and D is the mid-point of BC. The perpendiculars from D to AB and AC are
equal. Prove that triangle is isosceles.

\y/‘r‘aaft AB||CD , ZAPQ=50° 3R ZPRD=125°%1 y~x %I §H 1 S| 3
\
A P B
. - ;
€ R D

In the figure, if AB||CD, £LAPQ=50° and #/PRD =125, find y—=x.

A 8 B

= >
i x 125u T
CQ R D

18 fam 1, L/AOB =1 walgywes @11 21 | fEg D & 991 DLLOA SRDMIOB®| e wiwuis: 3

(i) AOMD=zAOLD . (i) DM=DLEI
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In the figure, line [ is the bisector of ZAOB. D is a point on I. DLLOA and DM1OB. Prove

that :
(_(L)/ AOMD =AOLD Gy~ DM =DL

,ﬁ/mmmﬁﬁgﬂa—s}zﬁtmﬁaﬁaﬁm1 x-311 3N y-2e1 © foig P 9 woEfaa s 3
den 9H ity fF 3 feg %99 Q AR R €1 £ QPR i |19 1 A TS|

On the graph paper, plota point P(5, — 5). Reflect P in x-axis and y-axis and let these points be
 and R respectively. Guess the measure of £ZQPE.

\ﬁ/ﬁﬁﬁaﬁﬂﬁmaﬁﬁmﬁﬁwmﬁm%wmﬂﬁmts Afe frgsi 1 yomd. 3
40 em, 24 cm 332 em & 7o TG T F1 SUK 40 cm &, A GHiat SgYS F GG SaE T4
hifard |

A triangle and a parallelogram stand on the same base and are equal in area. If the sides of
the triangle are 40 cm, 24 cm and 32 cm and base of the parallelogram is 40 cm, find the
corresponding height of the parallelogram.

EUE-7 [ SECTION-D

TR T 21 631 H Wl & 4 30F E
Question numbers 21 to 31 carry four marks each.
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5 +J6 — 11

Rationalise the denominator of the following :

1
V5 +6 =11

/14/ o 51 iy gems = fafay, e 4

() ¥ O e gem )

(i) A uitE e g

(i) TOF T i wEm §

(iv) Taumm o oo gem &)

<irg i wife |

Give an example of two irrational numbers whose :
(i) difference is a rational number.

(i) sumisa rariongl number.

(i) productis a rational number.

(iv)  division is a rational number.

Justify also. » by

2 g =ifom . o

: (x+yP+y+2P°+ (z+x}3——3(x+y}(y+z]{z +x)=2(r+y° +2° — 3x2)
Prove that :
P+ +2P + @+ 0P+ +2) e+ ) =23 +1P + 2 —3x2)

}/W“WW T FQ O W (m-n), {o-p) K p-m), T/ 4
m(n? - p?) + n(p? —m?) + p(m? —n?) & THEE T

Using factor theorem, show that {m-n), {n—p) and {p—m) are factors of
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‘ m(n?—p?) +n{pz—m2]+pfm2- a0 L\

&,

‘ ;5/ areE T T 1 whEer BT T 2(0.3)3 + (0.4)3 +(0.5) + (—0.7)° +(—0.8) &1 HH T Fifem) 4
o werafire =1 WA 837 & = i faf@u|
Without actually calculating the cubes, find the value of
2(0.3)% + (0.4 + (0.5 + (— 0.7)* + (— 0.8)°. Also write the identity used.

A genfim wifeg w0 %aﬂt—% TR SO — 42— 18x+9 B YEE ¥1 ARG, AR A
UG EA ST |
Verify if % and — % are zeroes of the polynomial 8% —4x* —18x +9. If yes, then factorise the
polynomial.

27, st # AscD T TR = F SR W WIE ¥ $6 Wk @ i T 0 g6, T 4
siquTer, T U 791 U W e, A = ¢ | fae 8D muﬁﬁgp@m%ﬁnh%

usampaz% 0B 21 Dp T pp i T wAY &7 Ffrers F1 EH W ATFET T TR § Fauq &7
e S e GRY SR e ol avi Hi

In figure, a plot is in the form of a parallelogram ABCD. Owner of this plot wants to build OLD AGE
HOME, DISPENSARY, PARK and HEALTH CENTRE for elderly people as shown in the fig. Pisapointon
the diagonal BD such that DP is half of DB and PB is also half of DB. What is the relation between DP
and PB 7 Which Euclid Axiom supports the answer ? State the value exhibited by the owner of plot.
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8 ®YT ¥ Y Ifere @ a= %t fafan T ATfad gfere & 2 @ 9o faf
Twa salesmen make equal sales during the month of June. In July, each salesmen doubles his sale of

the month of June. Compare their sales in July. State which axiom you use here, Also Eive two more
axioms other than the axiom used in the above situation.

SFid H, Tl pq ST Rs WeR fifg 0 W whrede e § IS LPOR: £ROQ=5:7% T gofu w4
¥l = Jm Fife)

In the figure, lines PQ and RS intersect each other at point 0. If ZPOR : ZROQ=5 : 7, find all the
indicated angles.

o o & AF H, DC ¥ wmia AB ¥ ?Tﬁ'{x=§y a%ry=§z%,aﬁ £BCD, ZABC 3R 2BAD *
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A
‘Aven figure, AB is parallel to PE X = % y and ¥ = % 2 find #BCD, ZABC and

LBAD.

-

B

A

firlt Bgs 3 S0 (x—40)°% {x—-EEI]“ﬁE(% —mT € xmmmﬂmﬁmﬁaﬁﬁ%aﬁm 3

A ITIg |

The angles of a triangle are (x —40)°, (x—20)° and [% _ 10| . Find the value of x and then the

angles of the triangle.
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